
 
 
 
 
 

 
 
 

Year 2 Multiplication from Pictures 

Today we are going 
to build on our work 
from yesterday to 

create multiplication 
sentences from 

pictures.  

Tuesday 02.02.21 



Fluency Revision 
Complete these calculations; Show how you worked them out:  
 
32 - 19=  
41 – 16 = 
65 + 17 = 
98 –  53 = 
51 + 28= 
 
Mrs Riley has £1. She buys a pen for 26p and a notebook for 
53p. How much change does she have? 

Choose 2 calculations and 
create a fact family. 





Recap 

Yesterday we learned 
how to describe our 

equal groups using the 
multiplication symbol. 

2+ 2 +2 +2 + 2 = 10 



Recap 

Use these symbols to write  2 number sentences about this picture. 
 
 
 
 
 
 
 

+ x = 



Review 

 
 
 
 
 
 
 
 

+ x = 

2 + 2 + 2 + 2 + 2 + 2 = 12 
 
6 x 2 = 12 



Recap 
What does this symbol mean? 

Talk to your grown up. 

x 



Explore 
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What multiplication number sentence can you write about the 
ladybirds? 

 _______ x _______ = _______ 
 

____ is how many groups there are.  
____ is how many are in each group.  

 

Watch our 
lesson video 
to see Mrs 

Riley’s 
explanation. 



Explore 
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What multiplication number sentence can you write about the 
ladybirds? 

 6 x 2 = 12 
6 is how many groups there are.  

2 is how many are in each group.  
 



Explore 
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What does the 5 represent in this multiplication? 
 
 
 
 
 
 
 
 

3 x 5 = 15 
 
 
 
 
 
 
 
 



Explore 
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What does the 5 represent in this multiplication? 
 
 
 
 
 
 
 
 

3 x 5 = 15 
 
 
 
 
 
 
 
 

The 5 is the number in 
each group. 

There are 3 groups 
with 5 in each group. 



Guided Practice… 
How could we describe this picture  

using the multiplication symbol? 
 
 
 
 
 
 
  
 

______ lots of 3 = ______ 

______ multiplied by ______ =  

____ x ______ = ______ 

Watch our 
lesson video 
to watch Mrs 

Riley’s 
explanation. 



Guided Practice 
How could we describe this picture  

using the multiplication symbol? 
 
 
 
 
 
 
  
 

______ lots of 3 = ______ 

______ multiplied by ______ =  

____ x ______ = ______ 

3 

3 3 

3 3 

9 

9 
9 



Guided Practice 
 
 
 
 
 
 

Draw a picture for 
this word problem 

and use it to write a  
multiplication 

sentence. 

Millie is counting her cakes.  
She has 4 boxes each with 3 cakes in.  

How many cakes does she have? 
Watch our 

lesson video 
to watch Mrs 

Riley’s 
explanation. 



Review 
 
 
 
 
 
 

Millie is counting her cakes.  
She has 4 boxes each with 3 cakes in.  

How many cakes does she have? 



Your Turn 
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There are five purses and each one has 10p in it.  
How much money is there altogether? 

Draw a picture for this 
word problem. Use 

your picture to create 
a multiplication 

sentence to help you 
solve the problem. 



Review 
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Guided Practice 
 
 
 
 
 
 

What does the 3 represent? 

4 lots of 3 

=    1 x ____ 

Complete 
using <, > or 
=. 

Watch our 
lesson video 

before 
completing 

this task. 



Guided Practice 
 
 
 
 
 
 

What does the 3 
represent? The 3 is 

the amount in 
each group. 

4 lots of 3 

Complete 
using <, > or 
=. < 

> 

=    1 x ____ 10 



Reasoning 
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True 
 
False 
 
 
Explain your answer.  

5 x 3 is the same as 5 lots of 3. 

Watch our 
lesson video 
to watch Mrs 

Riley’s 
explanation. 



Reasoning Response 
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True 
 
False 
 
 
Explain your answer.  

5 x 3 is the same as 5 lots of 3. 

ü 

True.  
5 x 3 is the same as 5 lots of 3 or three 5s. 
5 x 3 = 15 and 5 lots of 3 = 15 



 
 
 
 
 

 
 
 

Independent Practice 



 
 
 
 
 

 
 
 

If you’re finding things tricky… 



 
 
 
 
 

 
 
 

If you want a challenge 





Fluency Revision 
Complete these calculations; Show how you worked them out:  
 
32 - 19= 13 
41 – 16 =25 
65 + 17 =82 
98 –  53 =45 
51 + 28=79 
 
Mrs Riley has £1. She buys a pen for 26p and a notebook for 
53p. How much change does she have? 
 
26p + 53p = 79p 
£1-79p = 21p 








